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{ "type": "BusinessCard", "isBackSide": false }


{ "names": [ { "family": { "value": "C.", "coordinates": [ 965, 1307, 999, 1349 ] }, "given": { "value": "Aof) ...... G-- --.. J..... . ... ..", "coordinates": [ 468, 1296, 999, 1360 ] } }, { "family": { "value": "T", "coordinates": [ 1155, 101, 1181, 136 ] }, "given": { "value": "E.X-", "coordinates": [ 1017, 85, 1123, 138 ] } }, { "family": { "value": "Acb.", "coordinates": [ 459, 593, 579, 634 ] }, "given": { "value": "L", "coordinates": [ 400, 572, 450, 629 ] } }, { "family": { "value": "Llobc", "coordinates": [ 442, 663, 614, 723 ] } }, { "family": { "value": "A", "coordinates": [ 558, 1885, 605, 1946 ] }, "given": { "value": "A P", "coordinates": [ 381, 1878, 470, 1947 ] } } ], "emails": [ { "value": "c@l.BSc", "coordinates": [ 440, 422, 750, 475 ] } ], "type": "BusinessCard", "isBackSide": false, "width": 2304, "height": 2936, "orientation": 0 }

